Zezim 6 06/11/23
oX+2Y-9 =9 33" ______
g 4 - 9= 9
f/: . (Xazgja\ 6@‘2 5
Xo

Yo Pe eARAZOL ?’(K}D
dist (F,P)- dist (4 P)
9

1. ;;(
(K-s)4 [ (grg) = |0 |1
[ Cxoss (g4 =

(e (g’ = ()
X% ZXY+><,L—Z£ ZJ 43 i cm{—:\
\Z\joj JchH :—X £2X X -—Xo _(L;f' 4—(1

2(301):, = -X" 2% %t 31*11

J AN /] % m‘?
Z(U"—T\ &9 ’
o b




Dise,am Qo. wte  clle passe (,u(ciozfcw]( A-(z2)  B-(0)
/\

™ A

(2 =m(2) 44

'< 0 = m(=) +o(
| /

Z:Zm—tj Z:ZTT 2=3 o= =
LT

(W,
N
N%

o:-(Wl‘rcl {\M-j

Cleton® CPE taSHn  PER (30), (£,2), (0,-3)

Xq‘t j/ﬂ av+éj+c =0

9 3 +¢ = O 2o | =|-9 C=-9-3a
444 + oo b tc = 0 2 a+2b+c = -5 Ja+zbogza -5
30 4| 1@bLaq =b FBhic -3 -

i . C = -9¢6 =-3

O !’J =-2
—20. +Zl’)’-‘—4 Y OL‘-‘-L'-Z 4}0\.__2

_\ﬁla —Q_S(L-Z):-} b-o

R -9 Lyb a6 4-3
"(31‘\!_3»\'9 =0

b-o
j}&? ow u‘»zc@ma&w. g\ @32 ZX)-3 =0
@E@—S@-ﬂzo



(x- X¢\1+ (j- e )2 = |r*
(X—4>2 t (y—o)z = 4

C=(i,o)
)

3 TN




bxamﬂ (X-Z(

X -2 SC X-220

~X 42 SC X-2<9

[%-2[~ %

Se. X2

—~
X -2
T ) s x<3




>
>
/
v
A
7
/
s
bi&eamw_ pa 4'
K4 e X240
x4 e xia<o
OXZ—-4@O Covceord | \
OOQC&QJ '@ ?90. c!a@léf"i Qe "\‘
¥4 = o \
X, =2 \
yz——z \\
X<2 N X252
(“0°,'21U [__214-(;@\ }(27/ 4

X < - vy X %2




2 /_\J>

—X 14 ¢ Umf@%%

X1‘=‘L
X2 =)

T WASLAZIomt A Dx ¢ 43K

Yo B |0 O{(m jmjkfm f{ X-%o) o simh o f(xj

/e {?m A{ Xo Vealo Dt Stan

QDW'G—* ea (PAM"W {XZ*‘Pl Erws&zjfe i 1 vew £ ks

di 2 (oey Smmistae
M+i

[ (x+7_)z- 4 ) A4

[ ><2+¢x va-4l +4
[P 4ax|+4 =




3 X‘_: --4‘
X+4)=0
x ( <ol
(— =, -‘l—]u [0,4-(7«\
'°°/“4]U [01 *W)
X4 | % X€ (

/\
\ﬂ%’:' \‘—4_-;: \JI\E:zE
XZ-M-X(-/L
A:’IG‘4 =12 ’@__—2_@:}-16 irﬂ(\g—éﬁrz
Z

Xn_-“" 1z /

4 <2
2 \5 '@7_2*@3-&4 i \f;
2




e G lal

2¢ (s¢3

J4.5 - [4.[5 =26



D fele

D
f(x)?j(x) /

b (x)

(X))/o > X vx33~r___

(x) 7o — ¥ -4
«>o —7 “2\4oll

)

Non LA flevo

O:Pg

g iy

— ?
e e s - —

S i (‘V", -Z)U (— ’—',0)0(0,3)

>\

xi425s

XL 4x

Xz-f—ZS >0

D= -|oo <O

(A
X —=4x 50
ea/rsmm

X(X 4—) =

X4_:’ O/ K1:4

j;= (’0“, 0)\)(4/ {—90)
{xeﬂz LX< oy x>4zf



(RS
X+1 4
1 x
-~ Do
X+ 4
4 — (% ¢
(X +1) ST
4 (X +1q)
0~ % |
4(xe) 7 °
@Bl
= SO
7

f{x))o 450 X417 0
3-X 20 X >-4
-X > -5
X <3 A
_ @ L

I — (‘l9— |

¥l >

L 3 !

~1 (X <3 S ~¢3)



/

1

X'—Z 7/.‘1_
)X-5

l

Y41
-4 70

1x-5

\(11—7_ -I¥X+3
2,0
2X =%

z

X =2 +4
o
2X-13

X2—2><+1 » 9O
A: 4—4:0

(x—ﬂ2>,o \/ 5

fe

.152+2x-5
X% 6% 48

72N
O

B[ ¥
i x=2 3+%

ZX-% > o




